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Does the limit lim f(x) exist?

I=%]

Solution -
£ I 1] x=1- x21
X)=\X=1]l=—
—(x—1), x<1
lim f(x)=lim (x=1)=0,

and fim f(x lim(~(x~1))=0
| then fim /() =0, e -,
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Theorem (Squeeze Theorem)

Suppose that  f(x) < g(x)<h(x)for all xin the interval (x,, x, ) containinga, except
possibly atx =a, and thalt,- -

lim £ (x) =limA(x) =L ) ARl P Dol BES

L X X—bir

for some number L, then it follows that :
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x—a ' r—*“_D__‘J_j\"':.-J < .-:*‘ ';E.r
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Limits Involving Trigonometric functions

Theorem

. . sinx tan x .. l-cosx
For x measured by radians: lim — 1, im——=1land lim-
3 ) _1- § —»f 1- x=-al) ’\‘

=0.
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